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Q.No: 1  Who has been termed as ‘Carnatic Sangeet Pitamaha'?
2427059

e Wi famg' 5 et g2

Purandaradasa
A
G
Haripala
B
i
Venkatamakhi
c
Jepend
Tyagaraj
D
MRS

Correct Ans : A

Subject : General Knowledge

Q.No: 2 Who is the first woman test cricket captain of India?
2427510

URT 9 vgel A 2w fh¥e wwr o 22
Santha Rangaswamy
A
[iyT R
Neelima Jogalkar
B
Hfern SR
Diana Edulji
C
ST Fgeel
Shubhangi Kulkarni
D

it el
Correct Ans : A

Subject : General Knowledge

Q.No: 3 The D-Day invasion of June 6, 1944, took place in
2427581

6 T 1944 3T 31-S SAKHAT o gem Uil
France
A
|
Canada
B
BST
Germany
C

wft
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United Kingdom

TARes fhren
Correct Ans : A

Subject : General Knowledge

Q.No: 4 Choose the incorrect match regarding recent merger of Banks
2430663

ST F 71a gt ¥ ey & Yay § Tad e o1 909 B8

Andhra Bank merged with Union Bank of India

A
siten d 1 g S sife $fm A e
Oriental Bank of commerce merged with Punjab Bank
B
Fivtes Yo it S 1 4ore §% # faam
Syndicate Bank merged with Canara Bank
c
Rifs¥e ¥& &1 &1 8% & Rew
Dena Bank merged with SBI
D

A I 1 THetarE e

Correct Ans : D

Subject : General Knowledge

Q.No: 5  Which of the following is an e-commerce company?
2434479

A A HH @ o P § 2

Hero Honda

R e

Myntra

foar

Maruti

et

medanta

T

Correct Ans : B

Subject : General Knowledge

Q.No: 6  Who among the following was known as the Napoleon of India?
2435870

Fofafea & 9 59 uRd &1 Afr w1 S 4

Kumargupta
A

SHART

Chandragupta II
B

A5 1T

Skundagupta
C

il

Samudragupta
D

g

Correct Ans : D
Subject : General Knowledge



Q.No: 7 Which Gupta ruler first assumed the title of Maharajadhiraj?

2435892
P G ATE 7 FATUH AERICRIS B S 4RO 31 2t
Chandragupta II
A
s
Chandragupta I
B
R U
Samudragupta
C
e
Kumaragupta
D
PHARTA

Correct Ans : B

Subject : General Knowledge

Q.No: 8  With which of its neighbouring country India has Kalapani territorial dispute?
2437347

URT & b wSi A% & Wiy prenar sty Rare 82

Nepal
A

AT

Bangladesh
B

Cinict

Pakistan
c

Licasiet

Sri Lanka
D

Eiccal

Correct Ans : A

Subject : General Knowledge

Q.No: 9  Which one of the following styles is associated with devotional music?
2440735

Frofied & § $-W A Hida Sia ¥ H&a 82

Khayal
A

EcUIG)

Dhrupad
B

s

Tappa
C

<u

Thumari
D

il

Correct Ans : B

Subject : General Knowledge

Q.No: 10 Ajaz Patel became 3rd Bowler to take 10 Wickets in an Innings, he hails from which country?
2440811

TSIl 9 T Ol 7 10 fide 39 9 i fiea 99, 98 fhu am A §?



India

A
YR
Sri Lanka
B
Biccal
England
C
s
New Zealand
D

Correct Ans : D

Subject : General Knowledge

Q.No: 11  How much amount is given in Kishore Kumar Samman?
2441007

IR AR G T e i € ot 82

Rs.1 lakh

1 TG T
Rs.2 lakh

2 T
Rs.3 lakh

3 O >
Rs.5 lakh

5 TG 94

Correct Ans : B

Subject : General Knowledge

Q.No: 12 In which year the Nav Jawan Sabha was established at Khandwa?
2441122

Gedl & 19 S U BT R g af g8 e

1930
A

1930

1931
B

1931

1932
C

1932

1933
D

1933

Correct Ans : B

Subject : General Knowledge

Q.No: 13 Jain pilgrimage/jpg centre Bawangaja, belongs to which century?
2441149

S el g, 6 ware @182

14th century

14 i arsdt

B 15th century



15 &f wart

16th century

16 & waredt
17th century

17 f et
Correct Ans : B

Subject : General Knowledge

Q.No: 14 In which year Dr. Anil Kakodkar became the chairman of Bhabha Atomic Research Centre?
2441298

T, AT DI forg I HTHT TRATY] SFTHYM 5 & oI g7

1988
A

1988

1996
B

1996

1999
C

1999

2001
D

2001

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Where is Vikram University located in Madhya Pradesh?

2441513
we v # fawn fyfyerea wef R 32
Ratlam
A
deH
Ujjain
B
Io
Dhar
C
UR
Mhow
D
HE

Correct Ans : B

Subject : General Knowledge

Q.No: 16 Madhya Pradesh has a total forest area of -

2441566
AV FTGA T AT Bl
4%

A
4%
12%

B
12%

C 17.67%



17.67%

30.72%

30.72%
Correct Ans : D

Subject : General Knowledge

Q.No: 17 How many Seats does the State of Madhya Pradesh has in the Council of States?

2441730

T Y= X T Wt Bt ufewg # fhae i §2

09
A

09

11
B

11

13
c

13

16
D

16

Correct Ans : B

Subject : General Knowledge

Q.No: 18 Which district of Madhya Pradesh has the first panchayat in the state to achieve the target of 100 per cent vaccination against COVID-19?
2441771

T YR HT A I Tord B Bifys-19 F Rars wd-ufasd Se1asor & qed S U S arar 59 Bl Ul T 82

Shahdol
A

TMESK

Sidhi
B

Qe

Dindori
C

IS

Balaghat
D

e

Correct Ans : A

Subject : General Knowledge

Q.No: 19 As per the Census 2011, the overall population density of Madhya Pradesh in per sq. km is -

2441774
SFRTOMT 2011 % ¥R 7T WaxT &1 $of S0 99 Ui & fmedt §
343
A
343
298
B
298
236
c
236
201
D
201

Correct Ans : C



Subject : General Knowledge

Q.No: 20 Which popular crop is known by its scientific name Cicer Arietinum?
2441800

5 Bl BE B ITS AP T G g7 ST STl 82

Chick-pea
A

e =l

Lentil
B

R

Mustard
C

Rl

Soybean
D

il

Correct Ans : A

Subject : General Knowledge

Q.No: 21  What is important to prevent the infectious diseases?
2423019

TpTHe I BT AH & I T TRyl 87

Vaccination

el

Adspection

fraxfa

Acidification

B

Medication

Sey-yEiT
Correct Ans : A

Subject : General Science

Q.No: 22 What is important for growth?

2423038
faerr & forg @ st g2
Money
A
sl
Health
B
ES
Plants
C
wiew
Sunlight
D
RS

Correct Ans : B

Subject : General Science

Q.No: 23 Consumption of contaminated food can lead to-
2423056



g Air % Ja & B TH B

Health development

A
e e
Disease
B
Ll
Fatness
C
Hera
Hormone secretion
D

T ||

Correct Ans : B

Subject : General Science

Q.No: 24 The shape of our milky way galaxy is :

2425767
FARY SBTRART T PR Bl
Elliptical
A
& PR
Spiral
B
wtfer
circular
C
qRu=
Square
D
it

Correct Ans : B

Subject : General Science

Q.No: 25 A ball rolling on the ground slows down and finally stops. This is due to the effect of :
2425823

i W geadt ww g @il g1 ot § SR oI B ¥ It 81 98 $9P UM F HRO B:

Pressure
A

<d|

Friction
B

<HRG

Force
Cc

T

Muscualr force
D

U=ily ot

Correct Ans : B

Subject : General Science

Q.No: 26 Match the following:
2428753

1 Tuna, minnows and goldfish a Fishes

2 Amoeba and paramaedum b Arthropoda

w

Silverfish, crabs, dragonfly c Protozoans




Frafafea @ firem:

1 T, AT 3R gAEd AT a AGAT

[¥]

3rraT AR R b ameifaier

[

THea<Io, FF3, ST ¢ ST

1-a, 2-b, 3-c

1-a, 2-b, 3-c
1-b, 2-c, 3-a

1-b, 2-c, 3-a
1-c, 2-b, 3-a

1-c, 2-b, 3-a

1-a, 2-¢, 3-b

1-a, 2-¢, 3-b
Correct Ans : D

Subject : General Science

Q.No: 27 Check the odd one out:

2428788
fawm 31 sifg &
pseudopodia chiefly present.
A
wEifsa ge1 ¥ ¥ g 31
pseudopodia used for locomotion and food catching
B
iR 1 S MR R e T & Rig R o 8
amoeba and entamoeba
c
rftar SR Geremar
bread mold
D

33 T

Correct Ans : D

Subject : General Science

Q.No: 28 Which of the following is the largest taxonomic category?

2428793
Ffafed ¥ § 1 wod a3t affet iof @2
kingdom
A
s
genus
B
st
family
C
RErR
Phylum/division
D

wrge / e
Correct Ans : A

Subject : General Science

Q.No: 29 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429194 the correct answer to the question from the given options.



Assertion (A):Water is not wasted at all.

Reason (R): Drip system provides water to plants drop by drop.
e T wy & & e § T & 0@ @1 "afieuar 3R g 1 'SR & T § A9 51 T 71 S0P 37 SF1 HUEl 3 IrauTHigdd 9 B § SR Ay T fawedt # 9 0y &1 96 SW
AP (A): TR TG T §n §

HROT (R) : F3U el sl oY §g-4 el Suesy ot 71

Both A and R are true

A

T IR R G 9 86

Both A and R are false
B

T 3R R AT S §

A is true but R is false.
C

T 9 § AR IR I B

A is false but R is true.
D

T 39T § AP IR T B
Correct Ans : A

Subject : General Science

Q.No: 30 The theory of evolution was proposed by -

2429862
fasrgare @1 Rigia fad gRi wRarfad faan mar o -
Darwin
A
S
Theophrastus
B
Rt
Linnaeus
C
fofag
Aristotle
D
SR

Correct Ans : A

Subject : General Science

Q.No: 31 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429876 the correct answer to the question from the given options.

Assertion : (A) Toad , bufo and hyla belongs to the amphibians.

Reason: (R) they have three chambered heart and no scales are present over their skin.

e Fafafed vy & & FuF § T @ 0 &1 rafidan SR g @1 PR & FU § AT 51 T 71 S1UET 37 G HuAl 3t GradigdE oid S 8 SR fou Y fawedt 8 § uy 1 9 SW
3Hf¥meE: (T) oS, g1 SR ggal IHTRI I Teftd ¥

PRI (R) I7% g&d & fF Ff B § 9IR I @1 R P AP ANIG g1 8 &

(R) is true but (A) is false.

A
(R) 94 © Af (A) 7o 81
(A) is true but (R) is false
B
(A) ¥ ¥ AP (R) T §
(A) is false.
C

(A) TTad B

D\ ic ¥ha rarrack rancan far FTAY



ANy 1D LIS LUIISUL 1 Sasuin 1ul (Mg

(R) (A) ¥ forg & wRur 3

Correct Ans : D

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430054 the correct answer to the question from the given options.

Assertion(A): Sometimes you may notice black powder or white discs floating on the pickle or murabba, when a jar is opened after a long time.

Reason(R): The black powder or white disc that floats on the pickle or murabba is basically fungal growth.

e FEffed vy & & oo 8 T 8 0 31 e SR G @1 PR & T4 § A9 51 T 71 9P 37 G Bl B GradigdE wig S 8 o fou T fawedt 8 § vy a1 9 SW
3HfiFT (A) @ FH-Fl, AT AR 7 PR R I TIPSR I1 Wibg (3% aRa §U oW Uhd ©, 99 U od I & 915 U IR Giell dl 21
FHRUT (IR): AR T7 TR TR ORA Tl FTen WIS A1 Thg o qd FY ¥ $aF 3fa 3

Both A and R are true

A

A SRR EAE

Both A and R are false
B

A IR R I o §

A is true but R is false.
C

A ¥ 8 Af R 9 31

A is false but R is true.
D

A ST R AT R TT R
Correct Ans : A

Subject : General Science

Q.No: 33 Which one is not an essential requirement for producing fire?

2430169
T I TR F ¢ B 9 SHfard arawasman 76 32
Fuel
A
FLgl
Heat
B
ge
Oxygen
C
SfferfterT
Carbon dioxide
D

F SRRIES
Correct Ans : D

Subject : General Science

Q.No: 34 is a change that occurs periodically or at regular intervals.
2430191

TH URade § S IHY-TE 1R 91 Rt SfaRta W g 71

Endothermic

SISt

Exothermic

e

C Physical change



i aftae

Periodic change

3mafie gRaed

Correct Ans : D

Subject : General Science

Q.No: 35 The nucleus is surrounded by a jelly-like substance called

2432166
FrP o e AR T S war o
Stomata
A
e
Cytoplasm
B
PR 5
Mitochondria
C
REEE SRl
Cell membrane
D

BT et
Correct Ans : B

Subject : General Science

(22;1NZ02:43667 A x B means A is the brother of B. B + C means B is the son of C. C-D means C is the husband of D.
D - E means D is the grandmother if E. E * B means E is the son of B. How E is related to A?

AxBHRATEA BHFASTIB-CHITEFB, CHIARICDFATZC, DHIARID-E
FITETH D, TIT ARG EIE *BHF AT TE, BHTHEI E. A ¥ Y Faraa

Uncle
A

ElE)

Nephew
B

Hefrer

Niece
c

Ayiteit

Aunt
D

=

Correct Ans : B

Subject : General Reasoning

Q.No: 37 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as 1
2422663 gnoyld be. Study the given series carefully out of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

aca__ac__ a__ac

Froffaa uy & Rl 3 e o § T 1 37 saenshi f $o JeR gel R MU €, ok § guar & N Ry T fAsedt # St u € 9 3= S Tiftul i fiu e AR fawed § & f i gwan o
ST Y IR P F G 3HERI F ™M R 5 3o Tl ol Fa¥ ITg gl



babc

aaac
C

aaac

cacc
D

cacc

Correct Ans : D

Subject : General Reasoning

Q.No: 38 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as 1
2422666 should be. Study the given series carefully out of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

aabc__bacc__aba__bchb acc

Frafafed vy & sirl 31 o JEa § T 31 3 deans ¥ $9 oER g1 fau M E, ofR 3 Juar F A9 i T fawedt & SH 0 § ¥ 99 S € aifew) i fou Y R fawedt & & & i @ 1
ST B SR TN & J ekl F M | 76 [3Ped Gl o Ia8 UG Bl

aabc__bacc__aba__bcb__acc

aabb
A

aabb

babb
B

babb

bach
C

bach

bcab
D

bcab

Correct Ans : D

Subject : General Reasoning

Q.No: 39 Find the odd word out.
2424556

SR Xeg HT 997 o

Yashwant Sinha

A

T R

Nirmala Sitaraman
B

TReten Ryare

Manohar Parrikar
(o

HrieR uRa@R

N.D Tiwari
D

. 8. foerdt

Correct Ans : C

Subject : General Reasoning

‘322;’“2‘244302 Select the option /number which is related to 3" number in the same way as 28 pumber is related to a
1t number?

82:216:431:?



3@ TN [shed & T BT S FEY TEA T 3W THR GOOd § S g@dr dEam gger
TEAT W T
82:216:31:2

2
A

4
B

4
C

6

8
D

8

Correct Ans : D

Subject : General Reasoning

Q.No: 41 In the given figure, Triangle represents LED, Circle represents Display and Square represents LCD.

2426569
AN
% 8 |19
6 v |
How many Displays are of LCD?
Ru Y 3w &, Piys TSt 1 uRiAfiT e 7, 99 fowd 1 wRifAf v § SR o f e o1 ufiffta wxar 21
/N
% 8 |19
61 & 83
LCD & fre feeat §2
8
A
8
17
B
17
19
C
19
25
D
25

Correct Ans : D

Subject : General Reasoning

Q.No: 42 which of the following diagram indicates best relation between Buffalo, Farm Animal and Animals?
2426791

frafifed § 4 3 91 o 39, ¥d U R THRI F &9 999 o/ I9Y P gfar 32



O
OO

O
OO

® ©@® ®

Correct Ans : A

Subject : General Reasoning

Q.No: 43 Select the Lettered pair that has the same relationship as given in the questions:
2426816

Optimistic : Pessimistic

I 3R GH T I DY forieT oo weil H 3w 1¢ wwr ey 9
I U E N NG A

Difficult : Impossible

A
fewd @ SR
Study : Play
B
S : G
Tolerating : Disgusting
Cc
et : R
Export : import
D

fafa : s
Correct Ans : D

Subject : General Reasoning

Q.No: 44 Select the option that is related to the third term in the same way as the second term is related to the first term.
2429560
NINE : ENIN :: FROM : ?

I4 faded T 759 HX Sl ek U8 ¥ ST THR Gaid ¢ O qEl IS Ued U § Hefid B

NINE : ENIN :: FROM : ?

MROF
A

MROF

MOFR
B

MOFR

MORF
C

MORF

D MRFO



MRFO
Correct Ans : C

Subject : General Reasoning

Q.No: 45 Read all the information and answer the question.

2429587
A + B means ‘A is the mother of B';
A - B means ‘A is the brother of B’;
A x B means ‘A is the father of B’;
A + B means ‘A is the daughter of B";
How is L related to M in the expression M x N -] + R + L?
Tyuf TR B U8 IR Uy T IR S
A+BETHIE A, BB I
A-BaETf A BHTUE R,
A x B®T 3 § A, B 31 a1 3
A+BIAfE A BB R
ANGEFEI M x N-J+ R+ LA L, M 5T yeR Feifta 82
Daughter-in-Law

A
RERES
Son-in-law

B
<
Son

C
kel
Daughter

D
kel

Correct Ans : B

Subject : General Reasoning

Q.No: 46 C and D are young ones of E. If E is the father of C but D is not the son of E. How are D and E related?
2429609

C 3R D, EY 503U & 1 4fe E, C &1 far § afd D, E &1 37 78 31 D iR E 59 voR waifda &2

Daughter and Father

A
T SR e
Niece and Uncle
B
Helfoft 3R sfaa
Nephew and Uncle
C
efte 3R sfwa
Daughter and Mother
D

o R T
Correct Ans : A

Subject : General Reasoning

Q.No: 47 Which answer figure will complete the pattern in the question figure?
2433201

/]

P o IW P vy srpfa § et o1 gof softz



/
/
B
/
c
4
/
D
/

Correct Ans : B

Subject : General Reasoning

Q.No: 48 A specific analogy is given in the question below. Understand the logic behind it and choose the correct option for the next part:

2434099
A:@:zﬁ:?
i g o wor 3 o fafere g fmmwra 1 7o §1 % o ofr st o s s % g
TET e T A
A:@::O:?
A
B




Sl

©

Correct Ans : B

Subject : General Reasoning

Q.No: 49 In the following question, select the odd number pair from the given alternatives.
2435072

Frafafad vy # Ry g fasedl § & faw dem 3@ o1 gfhul

7-49-343
A
7-49 -343
11-121-1331
B
11-121-1331
3-9-27
C
3-9-27
4-8-64
D
4-8-64

Correct Ans : D

Subject : General Reasoning

Q.No: 50 How many triangles are in the given figure?

2437703

@ sl § fba By 82

20
A

20

19
B

19

14
c

14



18
Correct Ans : D

Subject : General Reasoning

Q.No: 51 Three of the following four number-pairs are alike in a certain way and one is different. Find the odd one out.
2438869

FofifEa IR T -gm 7 Y & ve PR 7% 3 Jefia § e e § v a3

1113:153
A
1113:153
161:81
B
161:81
93:117
C
93:117
133:171
D
133:171

Correct Ans : C

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440197 logically consistent with the main statement.

If we respect national flag, we will respect our nation
A. We respected national flag

B. We did not respect national flag

C. we respected our nation

D. we did not respect our nation

o T gy H g7 HF SR ISP 918 IR HUA §| HUAT B BT GH T, TT61 Ted BT Bl deR G BUT I 7, IR & FYF qfdd FU Y T FUT Y WA 31
IR &1 AP G BT IHA PR ¢, A T S0 Y BT I B

A. T T a9 BT THHE FRA &

B. BHA TP a6l Bl I T fbar

C. B 30 XIF T 9T fa

D. BH U XY BT A el [l

AC
A

AC

BC
B

BC

DA
C

DA

CcD
D

CD

Correct Ans : A

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440385 |ggijcally consistent with the main statement.

White gown looks either classic or dull
A. White gown looked classic

B. White gown did not look classic

C White gown looked dull

D. White gown did not look dull



fow T gy 7 g HU SR IUF 916 IR TUA §| FUAT BT Hd G g, TT8T Ted HUF BT aedd ok UF 4 8, R & FUF difhd T 9 T $3F § §E 7
e TS A1 A TR I1 AR e &

A. g T3 ARy T TgT Ul

B. Wibg M A Tol T 6T AT

C. gihg S R T 3@t o

D. Hihe T3 ke Tl o 381

AB
A

AB

DB
B

DB

CcD
C

CcD

BC
D

BC

Correct Ans : D

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440394 |ogjcally consistent with the main statement.

The computer was hacked by either the operator or the hacker
A. The computer was hacked by the operator

B. The computer was not hacked by the operator

C. The computer was hacked by the hacker

D. The computer was not hacked by the hacker.

R T 9y g B SR SUP 918 TR DU §| YT B Hiid IH T, ST6T Ted HUT B add gaR DU A 8, iR & FU difhd T A T $4 Y T 7
HEER P SRR A FIR GRI 3% a1 007 o7

A. R B U GRI 35 HR form mar o

B. $HLR Bl SR GRT 8% T4 1T T T

C. PR BT §HX A §F T fomm

D. PRI Bl §IR A 8P ol [ Ul

AB
A

AB

DA
B

DA

CA
C

CA

BD
D

BD

Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related group of letters from the given alternatives.
2441992

BACE : DACE :: FACE :

few U fawedl # & WSt s o1 9g @ |

BACE : DACE :: FACE :



A HASE
HASE

LACE
LACE

CASE
CASE

HACE
HACE

C

D

Correct Ans : D

Subject : General Reasoning

Q.No: 56 ¢ v 56 - _{9 (=77 =
3222351, Simplify: 56 -[36- {9+ (6 +72+8 x 2)}]

TR DI 56- [36- {9+ (6+ 728 x 2)}] .

59
A

59

53
B

53

52
C

52

51
D

51

Correct Ans : B

Subject : General Maths

Q.No: 57 gimplify: 2100+ [560 + {966 +(210+90 + 10 x 4)}]

2422411

TR B 2100 +[560 + {966 +(210+ 90+ 10 < 4)}]

880
A

880

364
B

364

328
(o}

328

560
D

560

Correct Ans : C

Subject : General Maths

Q.No: 58 In how much time would Rs. 25000 amount to Rs.31460 at 6% per annum compound interest?
2423648

o g & 6% R o Spgfe SO B &R ¥ 25000 T, 31460 FU §Y SCI?

2 years
A

29y

2.5 years
B

25q9

4 years
C

4 af



D 1 year

19
Correct Ans : A

Subject : General Maths

Q.No: 59 Three years ago, the population of a town was 67700. If the annual increase during three successive years be at the rate of 9%, 11% and 12% respectively, find the present
2423663 popylation.

& T B, TP TR 1 e 67700 A1 afg iR wite auf % SR aiffe 9fS FER: 9%, 11% IR 12% T R I Bt ], O adHH SRS 1 S
Rs.16871.387

A
Rs.16871.387
Rs.91739.4576
B
Rs.91739.4676
Rs.65489.2376
C
Rs.65489.2376
Rs.3487.654
D
Rs.3487.654

Correct Ans : B
Subject : General Maths

Q.No: 60 Solve:

2428629
{2744 + 14 -290f 13+ 93 x 7-430f 7 + [81 + 9 + 123 0f 2 - 31 x 3 + (87 X 2 - 19 of 26)]}
ks
{2744 + 14 - 13F129 + 93 x 7~ 7HT143 + [81 + O + 21 123 = 31 x 3 + (87 x 2 - 26 H1 19)]}
11
A
11
10
B
10
5
Cc
5
6
D
6

Correct Ans : A

Subject : General Maths

Q.No: 61 The average age of husband, wife and their child 3 years ago was 27 years and that of wife and the child 5 years ago was 20 years. The present age of the husband is:
2432578

3 99 gd ufd, et ofR 3% 9 3 ot omrg 27 o oft o 5 af gd uelt ol o= @t shwa omg 20 o o oy Bt A oy w72

30
A

30

40
B

40

50
c

50



60
Correct Ans : B

Subject : General Maths

Q.No: 62 a x-1 b x=3
2434699 |f(.l;) =(;) , then the value of x is:
a x-1 b x-3 .
lf(E) =(;) /Al x BTHA §:
1
2
A
1
2
1
B
1
2
c
2
7
2
D
7
2

Correct Ans : €

Subject : General Maths

Sagirey i (m+7)
If m 4+ — = 5 then the value of ———=
m m*c=3m+1
1
g m+ L= 5%,Fh(,:14_+777)aﬂ]:n:lmﬁﬁ
m me=3m+1
53
A
53
56
B
56
54
C
54
55
D
55

Correct Ans : D

Subject : General Maths

2;,'§‘1;7‘5749 If (3x + 2y)3 + (3x — 2y)° = 3kx(3x2 + 4y?), then the value of k will be:

TfE (3x + 2y)3 + (3x — 2y)? = 3kx(3x2 + 4y2), Bl dll k BT HH GH:

A 6



9
B

9

18
C

18

3
D

3

Correct Ans : A
Subject : General Maths

Q.No: 65 The ratio of cost price and selling price is 9 : 7, the loss per cent is:

2435224
TG e SR 350 I 1 Sfgura 9:7 §, T iiRId 31 &
Do
9
A
Do
9
62%
B
6%
200
5%
c
200
5
36.7%
D
36.7%

Correct Ans : C

Subject : General Maths

Q.No: 66 Mohan sells two items at the same price. If he sells one of them at a profit of 20 % and other at a loss of 20 %, find the percentage profit/loss.
2435244

Tiig U € P W 31 9% J91 81 I T8 ST & Th B 20% B T R 3R 37 B 20% BT §1 W =71 ¢, o 9f<ia an / g 91 PR

4% loss
A

4 % E'Iﬁ

3% loss
B

3 % 3

10% loss
C

10 % &

20% loss
D

20 % @f

Correct Ans : A
Subject : General Maths

Q.No: 67 A shopkeeper gives 20% discount to all customers and gives an additional 25% discount (on the discounted price) to his family members on purchase of a shirt. The amount p
2435304 gne of his family members to purchase a shirt is Rs. 750, then what is the marked price of the shirt?

TF PR T TP BT 20% BT FT 3al 8 3R TP I TG | U7 TRAR F e B SHfalked 25% Fe (Fe a1 G W) Tl g1 9P URaR F ol wew gR1 uE Tie & g e bt
3. 750, A1 W I 3ifha geg T §2

A Rs. 1250



1250 03

Rs. 1000
B

1000 =0

Rs. 800
C

800 ¥

Rs. 1100
D

1100 93

Correct Ans : A
Subject : General Maths

Q.No: 68 There are 78 hats, 20 of them are pink and the rest are yellow. How many yellow hats are there?
2437482

78 2t &, 390 F 20 ot ¥ SR I GG 1 F ¥ 79 1 Y forert 2t @2

98

A
98
58

B
58
68

C
68
88

D
88

Correct Ans : B
Subject : General Maths

Q.No: 69 Which of them is non-terminating decimals fraction:
2437502

—
w

o —
SR
-

w
(XJI\D¢|

ST q H-N1 S eRmad fird 3

—
—
w

AR
LD |

1 and 2

13R2

2and 3

23R 3
1,2and 3

1,23R3

1and 3

13R3

Correct Ans : A
Subject : General Maths



Q.No: 70 A herd of cows gives 12 litres of milk each day. But each cow gives one-third Milk of total milk each day. They give 108 litres milk in nine days. How many cows are there in th
2437562

T 1 UF Fs UAF T 12 TR ¥ A 31 A TS T WS 3 T U 31 we-foers &t 81 3 N R F 108 Aew qu T B g A bt ma @2

2
A

2

3
B

3

a4
C

a4

5
D

5

Correct Ans : B

Subject : General Maths

Q.No: 71 If in a symbolic language ‘WATCH' is written *XBUDI’ then ‘CLOCK’ will be written in the same language as?

2422551
g faet Fidhfard o & 'WATCH' T 'XBUDI' T T df 'CLOCK® T It 1T # ferar wmam fomps?
BMNDJ
A
BMNDJ
DKPBL
B
DKPBL
BMMPBL
C
DKPBL
DMPDL
D
DMPDL

Correct Ans : D
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘PARENT" is written ‘BDFGIK’ and ‘CHILDREN’ is written ‘"MOXQUFGJ’ then ‘REPRINT’ will be written in the same language as?
2422581

gfe fpddt gihfas umn A 'PARENT' 1 'BDFGIK' forar STl € @R 'CHILDREN' @1 'MOXQUFG)' foraT SiiaT @ & 'REPRINT' &1 It w11 7 ferar simawm forgil?

FGBFXGD
A

FGBFXGD

BGBFXJIK
B

BGBFXJK

FGBUXJK
C

FGBUXJK

FGBFXJK
D

FGBFXJK

Correct Ans : D
Subject : Mental Ability

Q.No: 73 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430262 commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.



Statement: The Bank of Shikarpur move to auction 25 metric tonnes of gold drew plenty of bidders looking for a bargain, but was criticised by major gold producers worldwid
Conclusions:
1. The Bank of Shikarpur should not auction gold which it possesses to keep steady international prices of gold.

I1. Persons should quote higher gold prices to retain present value of gold in thenational markets.

Frofafa ust &, & Fu 3 Fspd 1, 11 37 SR R § SIS Q1 DUl TR IR S g, 4 & 3 SR W I adl § Uedld 8 @il| anuet 3w 2T e sy & afg frsed 81 ot St 9w

FU: 3P s FAERE 7 25 WeF o7 99 31 Frarh & forg Seamh 3t qam § aga aR Sicerarsh F1 srepifa far, e g 1= % e 99 & Saes! T 3@ e 3t
e

1. ¥ offp RHRR $T I 3 Fardt T6§ S =1fey ol I9& 9" I &1 RR STRPE Sdl o1 g T& & /e

11. Sfddl 1 I SR F W & A el B §HIE e g AR o el il T SR 3T =Ry

Only conclusion I follows

A
Faa Iy 1 SFFER FRar §
Only conclusion II follows
B
P TPy 11 SFERY BT §
Either I or II follows
C
1A I TT LT SRR e &
Neither I nor II follows
D

AT SR A I SRTERY TR §
Correct Ans : D
Subject : Mental Ability

Q.No: 74 If BACKSPACE is written as ECAPSKCAB then how is HYPERLINK written in the same coded language?

2434402
i BACKSPACE &1 ECAPSKCAB & &1 ¥ foraT ot ¥t @e HT1 H HYPERLINK &1 3 forar wmgrm?
KNILREPYH

A
KNILREPYH
MINLREYPH

B
MINLREYPH
KINLREYPJ

C
KINLREYPJ
KIMLREYPH

D
KIMLREYPH

Correct Ans : A
Subject : Mental Ability

Q.No: 75 In a certain code language, LIFE is written as GIMB. TOWN is written as ZNIW. How will STAR be written as in that language?

2434438

T A e T H, LIFE 1 GIMB & ¥4 3 fora1 51 §1 TOWN &1 ZNIW & 9 # foran a1 §1 STAR &1 39 Ul 7 & feran smomme

LINR
A

LINR

KHOS
B

KHOS

LHTR
C

LHTR

D KIOR



KIOR
Correct Ans : C
Subject : Mental Ability

Q.No: 76 Nik Rank third in a class. Shiv is sixth from the last, if Tushar is fourth after Nik and just in the middle of Nik and Shiv, then how many students are there in the class?
2435334

FFEFM AN VAR R ITITI VAR, IR IR, T S e TN AR L 70 7% R Ra F e S § §, D wen & Far sm g

14
A

14

15
B

15

16
o)

16

20
D

20

Correct Ans : C
Subject : Mental Ability

Q.No: 77 In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fi
2435474 commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

I. All coaching are schools.

II. All schools are colleges.

III. All colleges are university.
Conclusions:

1. Some university are schools.

II. All colleges are coaching.

19 Rw g yy & 7wy R 7w ¥ R a1 <) Fey 1 ok 11 RE 1w &)1 3o A M Al Y e e B, o @ wme qedl @ e wdla 919 81 ok R ag X 6 o e R g
e U A SR IR B

T
1. 3t wift pa gl

11. 9t S a P gl

111, e Sias gRaRid g
e

L. $® gMaftid W g
11. o e S

Neither conclusion I nor II follows.

8 s 1 30R A € 11 SRR Ha 31

Either conclusion I or II follows.

a1 at Frsedf 1 a7 11 SIERY R B

Only conclusion I follows.

Fad fpy IT SR B Bl

Both conclusions I and II follows.

BRI sy 1 @R 11 SRR R B

Correct Ans : C
Subject : Mental Ability

Q.No: 78 Two statements are given followed by thee conclusions numbered I, II and III. Assuming the statements to be true even if they seem to be at variance with commonly known
2435534 (ecide which of the conclusions logically follow(s) the statements.



Statements:

No Zoho is a Gmail.
Some Gmail are Yahoo.
Conclusions:

I. Some Yahoo are Zoho.
II. All Yahoo can be Zoho.

III. No Gmail is a Yahoo.

3 Y F 18 fF Fsm 1, 17 9R 111 U U ¥ T U e B I W W @ T T aadl & a1y e dRa &, @ Fofn 3 6w e s & § o w1 e e e @1 aifhe U 3
x|

B
I Sig! e Tt 31

o id g €

Frepy

L $S U1g T &

11 Tt 918 S8 & 9Ha B
111 $¥$ i ag a7 |1

Only conclusion I follows.

A
Fael e 1 SrgER Rl €
Only conclusion II follows
B
Faq pY 1T SR B
None of the conclusions follow.
C
g oft Freaef argeron 7e e R1
Only conclusion III follows
D

Paa frepy 11T SR Sl 31
Correct Ans : C
Subject : Mental Ability

Q.No: 79 How many small cubes are obtained when we cut the cube using six cuts, which are distributed evenly in the three planes X, Y and Z2?
2438394

SI9 §H B Bl BT SWNT G ¥ B Pled § , Sl A dal X, Y 3R Z F 9HE w9 9 faaka 8§
@ fra B T I §A® ?
9

27

27

Correct Ans : D
Subject : Mental Ability

%INO: 807 In the following question, the statements are followed by conclusions. Study the conclusions based on the given statements and select the appropriate option as your answer.
3888 Statements:
M>A2B=Q<P<J]<Y
Conclusions:

ILA=Q

ILA>Q



Froffaa uy &, Ui F g frsed fGu 7e §1 Ry U FEl F oiuR R s a1 s Y iR oA SR % T SugH faded & 791 a1
Ealet

M>A2B=Q<P<]<Y

Frd:

LA=Q

ILA>Q

If only conclusion I is true

A
Ife Faa Freed 19§
If neither conclusion I nor II is true
B
o 7 o e 1 IR AR 11 v @
If only conclusion II is true
C
If Faw rrd 11 v §
If either conclusion I or II is true
D

R gAY 1A I T’

Correct Ans : D

Subject : Mental Ability

24'2;6%7 In the following question, the statements are followed by conclusions. Study the conclusions based on the given

statements and select the appropriate option as your answer.
Statements:

Xz2B=Y2Q, RSY>S

Conclusions:

I. R>Y

I.Q=S

TAFATATEd 9 &, el & alg foeany fgu arw g

fET 31T et & R WX Aoy &7 et Y A 391 300 & 9 & 59w faded & 99 B
e

X2B=Y>=Q;R<Y>S

oo

I R>Y

I.Q=s

If only conclusion I is true

A
Faa Fpd 1 99 R
If only conclusion II is true
B
Faa e 11 9 7
If either conclusion I or conclusion II is true
C
g sy 1A I
If neither conclusion I nor conclusion II is true
D

Tafef I dRTHIITT R

Correct Ans : D
Subject : Mental Ability

Q.No: 82 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439093 commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

All pickles are packets.

Some packets are not pockets.
Conclusions:

1. Some pickles are pockets.

II. Some pickles are not pockets.



A1 o g vy § <) FuA aur IuF U ) Fny 1 au 11 R T E 1 ST T T Fu Y I T 7, WY € 98 wdrd aedt § i uclta @ & 91 Ul & SUR W SIS S(UA1 SR SR |
EalcH

Tl sER Bve ¥

Fo Upe 99 T 8

s

L. $9 3R 99 ¢

I1. TS 3ER o T &l

Only conclusion II follows

% ey 11 ey ST &

Only conclusion I follows

e Frepy 1 3wy HRar g

Both conclusion I and II follow

e 1 SR 11 ST SR PR §

Neither conclusion I nor II follows

T3 Frsed 1 R T 1T SR R §

Correct Ans : D
Subject : Mental Ability

Q.No: 83 If'train’ is called ‘bus’, ‘bus’ is called ‘tractor’, ‘tractor’ is called 'car’, ‘car’ is called ‘scooter’, scooter’ is called ‘bicycle’, bicycle’ is called *‘moped’, which is used to plough a field?
2439276

% forg faman omen &2

Train

Xt

il

Tractor

i

Car

DR
Correct Ans : D
Subject : Mental Ability

Q.No: 84 = Arrange the following words as per their order in the dictionary.
2442726

1. Organ

2. Origin

3. Orient

4, Organic

5. Organise

Frofifea el 2 WP # e MY B & SR T
1. Organ

2. Origin

3. Orient

4. Organic

5. Organise

1,5,3,4,2

1,5,3,4,2
B 1,5,4,3,2



1,5,4,3,2

1,4,5,3,2
C

1,4,5,3,2

1,4,5,2,3
D

1,4,5,2,3

Correct Ans : C
Subject : Mental Ability

Q.No: 85 Arrange the following words as per their order in the English dictionary.
2442731

1. Approach

2. Appropriate

3. Approval

4. Approve

FrofifEa Tl oF el Tsea & 3T T HH F SER i@
1. Approach

2. Appropriate

3. Approval

4. Approve

1,3,4,2

1,3,4,2
1,2,4,3

1,2,4,3
3,2,1,2

3,2,1,2
1,2,3,4

1,2,3,4
Correct Ans : D

Subject : Mental Ability

Q.No: 86
.12 .. . . o
2423694 Ghanshyam can paint 5 of a painting in 144 days. How many days will he take to complete painting?

T Tk AT T 87T 144 Rt 3 e o el &1 39 oy SR 3 oy R wrelen

156
A

156

230
B

230

197
C

197

180
D

180

Correct Ans : A

Subject : General Aptitude

Q.No: 87 Working 7 hours a day, Ritik can copy a book in 17 days. How many hours a day should he work so as to finish the work in 13 days?



2423716

Hiod TF 71 F 7 9 T R T [Hag o 17 37 # ot o= Twar 81 13 3 § om @@ o & e 98 i & faw 92 om oo afiee
2.9 hours/day

A

2.9 we/fReT

7.8 hours/day
B

7.8 9e/feA

4.65 hours/day
C

4.65 /A

9.15 hours/day
D

9.15 we/fem
Correct Ans : D

Subject : General Aptitude

Q.No: 88 Calculate the trapezium'’s surface area if length of its two parallel sides are a = 23 cm and b = 25 cm and distance between them is 12 cm.
2426201

e TGS 1 g S FId I e 31 SUMIR Yyl 31 9aTE a = 23 dt iR b = 25 i § ok 3% o it gl 12 I R

320 cm?
A

320 {FR?

230 cm?
B

230 R

288 cm?
[

288 Je

150 cm?
D

150 =R

Correct Ans : C

Subject : General Aptitude

Q.No: 89 Which of the following is divisible by 10?

2427599
frafafed & 4 o1 10 § faursg g2
26890
A
26890
98765
B
98765
35762
c
35762
45987
D
45987

Correct Ans : A

Subject : General Aptitude

Q.No: 90 Which of the following is divisible by 5 but not 3?
2427612

Pufifaa ¥ 4 oF 5 3 faus 8 Al 3 37 2
A 865315670



865315670

654323465
B

654323465

87656788
C

87656788

387659124
D

387659124

Correct Ans : A

Subject : General Aptitude

Q.No: 91 Which of the following is divisible by 29?

2427643
Frofafaa § 4 o1 29 § fausa 32
74158
A
74158
96310
B
96310
789342
c
789342
62170
D
62170

Correct Ans : C

Subject : General Aptitude

Q.No: 92 A person’s present age is two-fifth of the age of his mother. After 8 years, he will be one-half, of the age of his mother. How old is the mother at present?

N o T @ adam 31 SUD! AT D1 Y 1 24 ¢1 8 I¥ I, a5 3+l 4l 3l 311y
DI ATUT Gl ST 940 & Jf &1 31 fdhat g2,

A e

. Boe

o o

Correct Ans : A

Subject : General Aptitude

Q.No: 93 Solve for x.

2431191
3(x+4) +8=5x
x & for g Biforr
3(x +4) + 8 =5x
9

A
9
10

B
10
5

C



6
Correct Ans : B

Subject : General Aptitude

Q.No: 94 Total cost of 3 tables and 2 chairs is Rs. 1300 and that of 2 tables and 3 chairs is Rs. 1200. Find the cost of one chair.
2431245 3 95 SR 2 HRIA 1 Fa ey $.1300 § SR 2 TSl 3R 3 PRI &1 $0 & $.1200 T T T &1 59 T3 Farzd|

Rs. 100
A 100 %.
B Rs. 150
150 %.
c Rs. 200
200 %.
D Rs. 250
250 3.

Correct Ans : C

Subject : General Aptitude

Q.No: 95 A ladder, 15 m long, reaches a window which is 9 m above the ground on one side of a street. Keeping its foot at the same point, the ladder is turned to the other side of the s
2431314 (oach a window 12m high. What is the width of the street?

o 15 1 ol W v s ao ugad B, S & et ¥ uw o wag A 9 f TR ) umE fig W WS e, W B et F g R gan S g 9 ag 12 @ S (s Q) st 9w uged
TSR, el 1 ST I Piog?

11m

114

19 m

19 #t

17m

17 %

21m

21 %

Correct Ans : D

Subject : General Aptitude

Q.No: 96  If the length of rectangle is decreased by 14.28% and breadth is increased by 20%.
2433731 \wharwill be the effect on itarea (approx.)?

af% srae 7 wars 7 14.28% Fr 7+ 7 A7 el § o< FETd § 20% Fryx Aoy
ZH G (ATSTT) T T T G9172

40%
A

40%

42.5%
B

42.5%

37.14%
C

37.14%

28.56%
D

28.56%

Correct Ans : C

Subject : General Aptitude

Q.No: 97 The difference between the greatest and least five-digit numbers formed by the digits 2, 5, 0, 6, 8 is (repetition of digits are not allowed) -
2436167



2,5, 0,6, 8 3Pl § &1 ufF F1g God 9! GON 3R G B} T 1 3R ¥ (3BT B GRIGRT A T ) -

69552
A

69552

65925
B

65925

65952
C

65952

63952
D

63952

Correct Ans : C

Subject : General Aptitude

Q.No: 98 Find the smallest number of 6 digit which when divided by 3, 4, 5 and 6, gives remainder 2?
2436988

6 3iP] B I8 TEY BT AT I Do off 3, 4, 5 3R 6 T IS A W A9 2 FIa@13?

100022
A

100022

100034
B

100034

100043
C

100043

100002
D

100002

Correct Ans : A

Subject : General Aptitude

Q.No: 99 The sum of all prime numbers between 20 and 60 is

2444523
20 3R 60 F d i eruTST TBITST FT FTH
320
A
320
326
B
326
357
C
357
363
D
363

Correct Ans : D

Subject : General Aptitude

Q.No: 100 What should come in place of question mark ‘?’ in the following number series?
2444698

2,3,10,39,7, 885

Frfafad v & o1 g (2) & ®—A R @ srme



2, 3, 10, 39, ?, 885

72
A

72

172
B

172

126
C

126

113
D

113 ‘

Correct Ans : B

Subject : General Aptitude




